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For Pach guestion from 1 o 30, mur opuons areé given. One of them is the correct
3 ;vartswer Make ycur choice (1 2,3 or 4) Shade the correct oval on the Opttcal
_ 'A_nsyver Sheet (OAS). ’ [60 marks}

1. . Look at the diagram below. . -

The arrows are offhave different (a) bu’; have the same __ (b) .

| =) I L
) | 7 o sizes - | “colour
{2y | . .shapes - .| _v;ze
‘(3) N hu_mbef of sides |  size
(4) colours number of-_sides

Jody saw a mimosa plan‘{ and iouched the mimosa leaves with her fmgers To
L her ~urpnse the. leaves did not close at all. What cou%d be the reason'?

N

S (4) slow'in spondmc 10 changes

{Go on to the next page)



3. The classification table below shows how some things are classified.

Things

—

|

A
1

I
B -
|

Bear
Goldfish
Seahorse
Mosquito
Dragon Scales

Wood
Brush
Paper
Waterfall
Cotton wool

Which of the following represents the sub-headings, A and B, correctly?

O

(2)
)]
(4)

A

B

Animals

 Plants

Plants

. Animals

~ Living things =

- Non-living things

Non-living things

Living things

4. Study thefollowing description of animal 2.~ *

© 7 Animal Zis most likely tobea

" lthas hair.
- . lteats plants. .
It b‘ur-r,oWS .Uﬂd?rgrOunﬁ. a

(Go on 1o the next page)
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5. The flow chart below shows how some hvmg things, S, T, U and V, have been ,
‘ classified. o

Plants

Y

_ Doesitliveonland? =Nl * Does it bear fruits? L»@

Yes

\

Does it have flowers? ——N°——>®

Yes

y

Do the flowers grow in a bunch? —NL—@

Yes

Which one of the following best represents the ixora?
1 S . :
2 T

(3 u

@

e wmchofthe félfbw;ng"'sieteifheh't!éebbut bacteria is/are false? . . . -

-Bactena can reproduce

A!I bactena are harmfui

o Bactena need food to survive, -

L Baet_ena can ._be.-fqund__ e-v_erywhere‘..

2. Bonly -
- Aand Conly -

(Go on to the next page)
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7. _The diagram below shows two organisms.

Mushroom

in what ways are the mushroom and the mould similar?

The.y can reproduce.
 They can cause decay.: ‘
They cannot make their own food.

Do W

They can only be seen through a microscopé.

(1 A BandConly
(2)  A.CandD ’o.nly |

. - . B,CandDonly . ... = - .
@ ABCandD

(Go on to the next page)
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Study_the classification cha_ﬁ below carefully.

Animals

Lay eggs Give birth
| | |
i
Have hair Does not have hair Have gills Have lungs
What animals can A, B, C and D be?’

| A B < D
(1) | Horse Swordtail  Turtle Platypus |
(2) Swordtail Turtle Horse Platypus
(3) | - Platypus Swordtail Horse . Turtle
(4) |- Platypus | ° ‘Turtle: | Swordtail Horse

(Go on to the next page)



9. Study the diagram below carefully.

o / Larva \
Egg

Pupa

— Adult <

Which of the following animals go through the life cycle z_as shown above?

A: Mosquito™

B:  Cockroach

C:  Grasshopper

D:  Mealworm beetle
(1y Aonly

(2) B and Coﬁnly,:’.- S
(3) " AandDonly. .
(4) BandDonly

' 10..The diagram below shows the life cycle of a butterfly.

(Go on to the next page)



11.  Study the diagfam below carefully.

cockroach

Which of thé following similarities between the life cycles of the two animals
. shown above are correct? ‘
“The young hatch from eggé. |

The young look like the adult. v
" There are three stages in their life cycles.

T 0P

‘The female adult lays many eggs at one time. .

(1) Aand Bonly VP RS R B e

e {2)-Cland Doonly. e AT T e

L(3) - A;Band C only | R
@ AcCandDonly .

(Go on to the next page)



- 12. " Nadia did a study on two animals, P and Q, and drew up a checklist.

P 3.

What Nadia dbs;erved

Animal P

Animal Q

Eggs are laid in water

No

Yes

There are 3 stages in the life cycle

Yes

No

. Yes

it 'has 3 pairs of.legs. _

What are animals P and Q7

- -Yes. .. |-

(1)
(2)

Animal P

Animal Q

Moth

Ladybird

Chicken

Butterfly

Grasshopper

Mosquito

(4) Mealworm beetle

Dragonfly

The ;diagrém below shows the different 'stéges of the-growth of a-seed.

J é(\ : N4

L

~Which-one of the following options shows the Correct order of growth? « « - .. - = i o

g
)

-

oor>»

O WD w
>»000
OrOo

{Go on to the next page) -
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- Study the set up below carefully and answer questions 14 and 15.

~damp cotton wool = »
" wvire mesh = e b SETE

_glass jar

cork board

black paper

light enters here

a

moist soil

- m—

14. What wd! happen to the roots when the seed begms to germmate?

They will grow '

(1) in all directions
- (2). towards the light - -~
(3) towards the moist soil

- (4) towards the cork board . 0L

. ‘,';15: ~' It was; observed that the young piant grew towards the hght Why dtd thlS ;i S

) o happen?

: (1_)_ The young plant needed hg'h':to make foo
L2y ;Ltght allowed the young plant to grow faster
- (3)--The young plant needed nutnents for growth

= (4) ;'.,Ltght wou{d prov&de heat for the young p%ant fo grow healthtiy R

(Go on to the next page)
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16. - The picture below shows a bumper car.

Material X

Which of the following options correctly describe the property and reason for
using Material X?

Property Reason
(1 | - Stiff Material does not allow light to pass through
(2) ’ Strong _ Car will not be damaged easily
) " Flexible | - Material will not break easily . - |
@ .. Waterproof - - Car will be able to move faster,

17.  Some things have been classified into three groups as shown below. .

L skinto i e

| , handke_{Chiet’; <. .-beerbottle . - ... photo frame . |

) handkerchief .

{Go on to the next page)
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.. 18. Some obje_éts' have been classified into two groups as shown below.

needle cork

marble wooden ruler

eraser ping pong ball J

What can the headings for Groups X and Y be?

(1) - ‘Fle)_(i_bie_ Stiff

(2)- 'Waterproof ' Absorbent

(3) * Sink in water F-lo_atjn water

(4) | Allows most light to pass through -

Does not allow light to ba'sé through

.18 ‘Omar wants to pack his footwear foF a holiday at the beach. BéSédﬁéh-thé SRR
.- . information below; which is the most suitable footwear for the beach? - -

Footwear | Flexible = | Waterproof | - Breaks easily * |

Cm v e - R “M-_J “ b—
, Xoooofo-Yes Dofo sNomiTo e Yes o b
Z

(Go on to the next page)
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20. Rafael wanted to test the strength of objects A, B and C made of different
_materials by hitting them with @ hammer. He conc}uded that object Bis the .
strongest because it did not break. His. teacher to!d him that his conclusion was '
incorrect because he did not conduct a fair experiment.

30 em

What should Rafael do to ensure that the experiment was fair?’

A: - All three objects should be of the same size:
B: Object A, B and C should be of the same material.
~ C:  The same hammer must be used for all the objects. . .
" 'D: " The distance between the hammer and the objects must be equaf

SO (1) Aonly”
(2) Band C on!y
. (3) ‘A BandC only _
. {4) A, Cand D_.o_nly SR

21 'which' »cf'th'é"fq'_téwihg'cbjé;c't(é,_) will be attracted to magnets?

'jCéppér plate
- Steel thumbtack-. L D we T
Alumsmum frame '

(Go on to the next page)
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22, Rches uses a hammer to hxt ab bar, “magnet i many fimes.

;lf happen o the bar magne’c’?

(1) Nothing will happen.

(2)  The hammer will be magnetised.

8)  Thebar magnet will become stronger.
4y Thebar magnet will lose its magnetism.

23.  Which one of the following items is classified wrongly?

f}’
"[»

Slectric fan

Hair.dryer

('@ On o the next page)
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24.  Steve tried to magnetise four iron rods, A, B, C and D, using the stroking method as
shown below. C T

Ni-

&
G

() roae

| l
=\

o

S

. Which rod(s) will became temporary magnet(s)? - < - -

(1) Bonly
{2y AandDonly .
@ AR CandD

{Go on to the next page)



25.

Study the diagram below.

16

e

Magnet X

. F—""Plastic cylinder -

Magne{ Y

What will happen when magnet X is slowly lowered into the plastic

cylinder?

(1)

Magnet X

S

Magnet Y

- Plastic cylinder

2)

——— Magnet X

~Plastic cylinder -

Maghet Y

3)

— MagnetX

.. -Maé".‘?t»\(:_:,f S

~Plastic cylinder |

(4)

Magnet X

— APiastg‘g cylinder -

(Go on to the next page)
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- 26. Anthony hadthree magnets, A, B'and C, as shown in the diagram below.

x

.

N
X
<
3
<
b3
N
X
X
3

Magnet A Magnet B Magnet C

He placed each magnet at the same distance from the same amount of paper
clips. He then slowly moved the magnet nearer to the paperclips and

measured the distance at which the magnet attracted the paper clips and the
number of paper clips attracted.

o Thé table bé!o'w_ shows his resu!fs. .

. Dis'te‘mcG:i betwee? | Number of papefclips
agnet - magnet and paperclips | L
_ (cm) '
AT 7 . ' - 12
B 2 3
e e 12

. Which of the following statements is correct?

S(1) - MagnetC is the weakest magnet. -

(2} . MagnetAis the strongestmagnet. . -

8 Magnet Aisas strongias Magnet C.. ..~
(4)Magne'( B-v__is'astrojngve,ﬁ;mégneft thanA T

(Go on to the next page)
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The foﬂowmg diagram shows how three bars X Y and Z interact with one

another
X -~ repel —— Y
Y. — attract «—— Z
7 +——— repel — X

Based on your observation, which of the following can you conclude?

. AD
- B:
. Co

W

(2)
3)

C2)
LBy

- X is a magnet
Y is a magnetb
' Zis'amagnet

“Aand B only

A and C only
B and C only

A, Band C only. |

~Which prop.erty, -_of amagnet enéb_les.a 'C,Qmpas‘:s_:to work? o

¥ Q,..

.A magnet rs strongest at tts po!es
A magnét attracts. magnetlc materlals

A magnetic matenal can- be made into a magnet

A freely turmng magnet comes to rest m a North South dtrectxon

{Go on to the next page)
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29.  Five bar magnets with their ends marked Ato J can be arranged as shown

|

Which one of the following diagrams shows a possible arrangement of two of
the magnets?

B s TR MY S

{Go on to the next page)
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.}3_0; Tw‘ bar magnets suspended by stnngs are tied to a wooden rod. A thin

sheet made of matenai A is placed between the two%) The two bar
magnets moved towards each other as shown below. AYNCS

L : Q T D }\wooden'rod

string

/

cobalt bar — Material A

- What is mate_riai A? -

1) vlroln‘

(2) - Steel
“(3) Glass
(4) Nickel

“End of Booklet A
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For questions 31 to 40, write your answers in the spaces provided. The number of
‘marks available is-shown in brackets | ] at ’theend «of each question or part question.:

[30 marks]

31. Taufig set up an aquarium with 6 guppres The graph beiow records how the .
number of guppies changed over: ttme -

Month B

15t 2 3 4t sth
Number of 6 12 2 8 14
guppies

(a)  What happened to the number of guppies from 1% month to 2™ month?

1

(b)) Explain your answer in (a). . . S I & | |

(c) - Tauﬁq s younger brother added 'some soap by istake into the

+ aquarium at the end of 2" month. Based on the above results, what
could be the number of guppies that are stlll alive in the aquanum at the ,
end of the, 3rd month. Explain why. . e T e

(Go on to the next page)



'32. Lookat the six animals below.

(B) Termite

222 SN

(D) Grasshopper (E) Millipede

(a) ~ Which two animals are ggjihsects? Write the letters in the boxes
below. - . , A (1]

Animals | “and l

(b)  Give a reason for your answer in (a). - | ]

(&) Whydo insects have a hard outer covering? (1] -

(Go on to the next page)



33.

4

Amri wanted {o eat a piece of bread but found ,so,mevgreénish-grey spots on it.

(@ Whatwé'r,;é.,the greenish-grey spdts found on Amri's bread? [
(b) Why are these greenish-grey spots in (a) hamful to us? [1]
() Give an example of a useful micro-organism. 1]

(Go on to the next page)



.34. (@)  Match the following adult animals to their young. 1]
Butterfly e~ = Nymph
Grasshopper o = VWriggler
.. Mosquito. «. » Caterpillar

Y

(b)  Study the given animals below.

() Which group of animal does it belong to? - [1]

(. Descnbe one charactenstrc in which the adult is d:fferent from

 the young (Do not « compare ‘the size, shape and co!our) ) I

{Go on to the next page)



' 35.  The diagram below sho_wé a seedling.

{a)  Whatis the part labelled ‘A2 (11

(b}  Howis part A useful fo thé séedling at this stage of the plant growth?

SR EE

- (¢} What will happer: to part A-as,_ the seedling grows bigger? - ... {1}

{6 on to the next page)



36. Jing Wen grouped some objects in the following way.

- Objects
N
- .
Not flexible ' Flexible
metal pole | S i 1 —
ceramic bowl Does nottear ' | [ . Tears easily
rubber mat tissue paper

paper envelope aluminium foil

(a)  Which one of the above objects has Jing Wen grouped wrongly?
Give a reason for your answer. [1]

(b) Jing Wen decadpd to ciassrfy all the objects into Groups X and Y as shown
: beiow :

T Objects = | = .
L . L
metal pole I A ..ﬁ_$sue- paper
_ rubber mat - ~}. - | - paperenvelope -
. ceramicbowl o e L T LT
aluminium foil

o  Which property of matenai is used to cfassn‘y’tl & obj
PR ,_'and Group Y7 : ‘

'G'roup'X o

B Group v

(Go on to the next page)
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(9]

The diagram below shows a motorcycle.

spokes of the
wheel -

Filt irn the blanks below under {(a) and (b) with a suitable material that can be
usad io make each of the parts indicated above. State a property under (c)
of the material that makes it suitable for that part. o [3]

Part | [Material -

famp (a)

lseat . ol(oy. . - - lFiexibie andwaterproof

)
]
!
R
M
o0

2 ',_},.Me-ta!_ (“) R

{Go on o the next paae)



38 ‘_ Johan made two electromagnets as shown in the diagrams below.

20 turns of wire 30 turns of wire

He compared the strength of the two electromagnets by observing the
number of pins attracted to each electromagnet. The results are
shown below.

Number of pins attracted

[ron nail A with 20 turns of wire o 17
i.rdnvnail B with 30 turns of wire 24
(@) What happens to the strength of the electromagnet when more | -

turns of wire were used? , , M

" (b) - ‘Based on the restilts, give a reason for your answer in (a)? [1]

ey '-Suggest another way that wou!d make the electromagnet
B aﬁract MOFE PINS?: ~ o oo o _.'m S

{Go on to the next page)
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~ ... 39.  Ainah hung 4 different magnets, P, Q, R and S from the ceiling to test the

strength of the magnets as shown below.

‘magnet~

thumbtacks

container

\ 1 S P

(@) ‘Which two magneté have the same magne{i{: strength? Explain why. [2]

(b) Amnah concluded that Magnet Q is the strongest Do you agree wnth S
Amah’? Give a reason for your answer.. i o m .

{Go on to the next paae)
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40. Sandy used the ‘stroke’ method to make an iron rod into a temporary -
-magnet. She recorded her observations in the table below.

Number of strokes 2 0 1 60 ]

Number of | paper chps attracted to 3 8 12
| the magnet . R & . _

(a) Based on the results, what could Sandy conclude about the number of
strokes and the strength of the magnet? {11

(b) . Name another material that the rod can be made of, in order to be
made into a magnet. ’ [1]

(c) .S_uggesi__another-m_ethod Sandy can use to magnetise the ironrod.  [1]

Endof Bookiet B~
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Q1 102 03 |04 [Q5 [Q6 Q7 a8 |09 [Q10

4 3 3 3 4 2 1 4 3 3

{Q11 [Q12 [Q13 |Q14 [Q15 [Qi6. |Q17 |Qi8 .|Q19 |Q20
1 a 3 2 3 | 1 | 2 1 3 | 4 4

021 1Q22 023 [024 (025 [q26 027 1q28 1029 [Q30

1 4 4 3 2 2 4 4 1 3

Q31a. The number increased.
Q31b. The guppies reproduced.
Q31C. There could be two guppies. They need clean water to survive.
Q32a. Animals E and F | .
" Q32b. Animals Ednd Fhave more than six legs unlike ihsectsgwﬁd ;:_>r’ujyt hdve six légs". o
| Q.3-2c.' The hard outer’c’.over_ingé >is to.pr()tec't.t.thém. “ e |
Q33a. Tﬁé_gr_eenish :—grey'spot's were bread mould.
.. Q335. [‘rvl_sidc, tf.}c‘rc is harrﬁfu) t)agtéria that can fﬁake -ué usick. -
- Q33c.Yeast.

-Q34a. Butterfly - Caterpillar.

- "Q34a. GrasahoppehNymph
'_’_Q34a Mosquxto ang}er

o "'__,.Q34b (1} The amphxb;an group

,Q35a I‘he Seed leaf.

VV ?Q34B (n} The younghasataz! but theadulttadpoles not B T AT e s e

o :Q3:5._b.-”1'._t provides food for the seed until the seedling can make its own food

© Q35c. Part A will gradually dop off as thie seedling can already makeits wor foods . = &0

37a.Glass b, Plastic ¢ Stff -



Q383 The magnetlc strength will mcrease
Q38b There are more pms attracted by the electromagnet
Q38c. He could add more battenes,

Q39%a.Pand R because they were hung at the same length and attracted the same
number of thumbtacks. : : :

Q39b. No, because the test was unfair as all the magnets were hung at different
heights.

Q40a. The more times she stroked the iron rod, the stronger the iron rod’s magnetic
strength.

Q40b. Steel

Q40c. He could use the induction method.




